Sample Distributions
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10%L5% — p=0.1 ; #ME400A — n=400 ; — F&_EHE

N ~ _ P(1-p)  0.1x09
(1) E(p)=p=0.1 ,V(p) = T 00 0.000225
. B p—0.1 0.12—0.1
(2)P(p>0.12)=p ( V0.000225 ~ /0.000225 )

=P(z>1.33) [BX]
= 1-0.9082 = 0.0918
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S distribution

(standard normal)
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TABLA

DISTRIBUCION t DE STUDENT

t=-1.812 i1=12812
5 4 -3 22 -] 1 2 3

Ejemplos:

Para n-1 = 10 grados de libertad

P(t > 1,812) = 0,05
P(t < —1,812) = 0,05

1 025 | 02 | 015 | o1 | 005 | 0025 | 001 | 0005 | 00005
1 1.0000 | 13764 | 1.9626 | 3.0777 63138 | 12.7062 | 31.8205 | 63.6567 | 636.,6192
3 | 08165 | 1.0607 | 1,3862 | 1.8856] 2.9200 | 43027 | 6.9646 | 90248 | 31,5001
3 | 0.7649 | 09785 | 1.2498 | 16377 2.3534 | 3.1824 | 45407 | 58400 | 12,9240
4 | 0740709410 | 1,1896 | 1.5332] 2.1318 | 2.7764 | 3.7460 | 46041 | 8.6103
5 | 07267]09195(1,1558 [ 14759 20150 | 25706 | 33640 | 40321 | 68688
6 | 0.7176] 090057 | 1,1342 [1.4308] 10432 | 24460 | 3.1427 | 3.7074 | 50588
7 | 0711108960 | 1,1192 | 14140 18946 | 2.3646 | 20080 | 34995 | 54079
8 | 0706408880 1,1081 [ 13968 1.8505 | 2.3060 | 2.8065 | 33554 | 5.0413
9 | 07027 ] 0.8834 | 1,0007 | 13830 1.8331 | 2.2622 | 2.8214 | 32498 | 4.7800
10 [0.6998] 08791 [ 10031 (13722 1,8125| 22281 | 2.7638 | 3.1693 | 45869

L ! LT IS 22010 | 27181 | 3.1058 | 44370
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X~N(80,0%)— Bl - JVZAR(10BEER "R, — ZRE tHE

WRIBEEFTRMAER : n=80 - S?=863 - HHE =9

8.632
10

P(x > 85)= p ( £y > 85‘8°>

=P(t, >1.83) [BFE]

=0.05






